2.3.1.5 RZADLX

means that if the first RZAD.:s 0f T pe craraster *hena SEZ0 vt Wi S
returned followed Dy the reading in of a new lLine from She ~z.s
subsequent read of type charactar will return the first -=ary—o- ro- tmE

New line, assuming it 1s not tlank. See alss the procecure A LN o icw.

% g .
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2] V is of type stning. .

A string of characters may be read using READ and in this case a ser-es 3¢
characters will be read until the number of Charactars cefinen Iy tfe airing
has been read or EOLN = TRUZ. If the string is not filled Dy the -eac ii.e. 17
end-of-line 1s reached befcre the whole string has Seen assignea) hen <he
end cf the string is filled with null (CERION characters - thus anaslas <he
programmer to evaluate the length of the string that was reac.

The ncte concerning in 1] above also applies here.

31 Vis of type integer.

In this case a series of characters which represent an integer as =2<imea 1a
Section 1.3 is read. All preceding blanks and end-cf-line markers are 3yeoea
(this means that integers may be read wnmediately cf. the note :n 1] asoves,

If the integer read has an absolute value greater than MAXINT SI737) then
the runtime error ‘Number too large’ will Be 1ssued and executian <srmunatad.
. =

IF the first character read, after spaces and end-of~line charasters have Yeen
siasped, 15 not a digit or & sagn (‘+° or ‘) then tne runtime errar ‘Nucser
expected’ will De reported and the grogram aborted,

4] V is of type real,

Here, a series of characters represanting a real aumoer acrcing to
syntax aof _action 1.3 will da read.

All leading spaces and end=of-line markers are skisoec - ang -as for-trtanprs———

above, the first character afterwards muss De a JiGi1% or a 5:3r. 2F tre number
read is t3o0 large or tzo small (see Section 1.2) then an "Over-law’ 2r-r will
te reccrted, {f T’ 1s presant without a Fllowing si3n or @i3.7 ~-e~ Izzcnent
expectad’ arvor will be generated and if a ceSial 3310T (s frasent witheal o
subsequent digit then a "‘Number expected’ error will Se jiven.

Reals, like integers, may be read immediately; see 11 and 3 1Zove,

READILN(71,92 00000V} is equivalent to! BIEGDI RIADT L, Vom0l
READLN END;

READIN simply reads in a new buffer from the keybcard: wrile Tyoing n the
buffer you may use the vanicus control functions cetaiied in Sechior 0L, Tows
ECLXN beccmes FALSE after the execution of REACLN unless the “ex: Lineas
blank.
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